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Teorie

Per partes

Označme
In :=

∫
1

(1 + x2)n
dx

Pak
I1

C
= arctanx

In+1 =
x

2n(1 + x2)n
+

2n− 1

2n
In

Substituce

Pro substituci x = tg t platí vztahy:

t = arctanx, dt =
1

1 + x2
dx, sin2 t =

x2

1 + x2
, cos2 t =

1

1 + x2
, sin t cos t =

x

1 + x2

Tedy

In =

∫
1

(1 + x2)n
dx =

∫
1

(1 + x2)n−1
· 1

1 + x2
dx →

∫
(cos2 t)n−1 dt

Příklady

Určete primitivní funkci k daným funkcím:

1. f(x) = − 3

16

1

(x2 + 1)2

2. f(x) =
1

(x2 + x+ 1)2

3. f(x) =
x2

(x2 + 2x+ 2)2

4. f(x) =
1

(x2 + 1)3

5. f(x) =
x2 + 3x− 2

(x− 1)(x2 + x+ 1)2

6. ❀ f(x) =
x2 + 1

(x4 + x2 + 1)2

7. f(x) =
1

(x3 + 1)2

8. ` f(x) =
x9

(x10 + 2x5 + 2)2
.

(6)prorozkladhledejtex4+x2+1=(x2+ax+b)(x2+cx+d),roznásobteaporovnávejtečlenpočlenu
(8)substitucet=x5
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